EARAROBREBRT —5 XN—ZXBISH—F

202338138 () 10EKiR3H

Il C 2 YSZ—Ai% ‘(fﬁl G ‘[%EH%FEEH - | 5 800 2
[xE&] 1&:350,000H  23&:123,000H  3#&:70,000H  43%&:46,000H  53&:25,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o W % _ _ TES B
1 3 SOU1—/9—)b 4 5 54%&& %2_;1 3-3 37.0 1 (4_1?2) %ggé (B%M)
RS/ IIv T4 BYI—FT— ARETa—T7—LA
o BIAITE - - Tz (BEE)
27| 7| PUFFAO-R LR Rt &h e > e
R:F4—=FITVSVF 8:T-VIL—I— EERS
- — 4 | RE 52.8 2-2 375 - 3 460 | KEER (BE)
37| 8| XMY3aDIYSA g 5.0 a12 8 TL—9v7 @)
RZvFE—TAIN B:TFIRAB [z Eet
S Ey st 4 | BESZE 53.4 6-4 37.6| — 7 | 439 | ZEERLE— (EXFE)
4 4| IAN= “’ A 54.0 ) (+4) | A\BIBEAS
R:UFVF4—X B:RU—vr0O0-X it i
=35 — B4 | B4t 53.6 4-5 38.2| - 6 | 458 |1BEHERT ()
5/5/5|A=¥a 54.0 ) w3 |PHE—
RNZ—k1—R BF—HLI(—Y ERYS
P ¥ _ BELLES] ()
6l8lg| TLt—T79vo "S5 e | 7|77 Y1 ek
R:EVFOVY BILAF—FURLA PRI
~ ) HwH it 5 | BARA 53.7 8-9 37.6| — 9 476 | BEE= (B%E)
718|100 FTYITHYBY 54.0 G/4) (7 |BRER
RFTWARI— BANTYVU—H5-X 25 Rigis
N BN = = =HEE (KR
8 6| 74—175vvx L o (2541./12) 5-7 38.4 8 (1_1;;;) giﬁim 7
RiF4 I RD—LEY B:EST—F47 vy RT7—L
- [N - - BHET (3R
N . IES1 i 4R %) A ’ (5+1$ MER
RIFAUNYRA NUFw b B:FAP7IRIL HO4S
— I 4 o4 | SRR 55.1 10-10 38.6| — 10 462 | FEEAZR OKR)
100111 7»74717“/ 5.0 ) 4o | ) AAE
RiW—5—YvF B:YTLIII wIT7—L4
@ 11— —BERIEI
13—7F—
20—F—
Ia=7r= 7.8,3,5,6,4,9,10,2,1
40—F— 7.8,3,4,5,2, (6,9),10,1
o ILRE
BB 3 1MOH | | 914K 3-7 7604 AR 3-7 430 3ER 3-7-8 2,930
B B 3 120H 3-8 2104 o 18 3-7 1,450 3Es 3-7-8 7,790
7 300 7-8 1,900H4 oS- 1 3-7 1,540H4
8 160/
ABCDOVTIRHTERERRODDZ, THERAILZETL




